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y	=	100.42x	+	128.15	
R²	=	0.934	
p=0.0336	

0	

100	

200	

300	

400	

500	

600	

700	

800	

0	 1	 2	 3	 4	 5	 6	 7	 8	

Ba
xs
	[p

M
]	

JO2	Optode	[μmol	L-1	d-1]	

1000	m	

450	m	

250	m	

175	m	

y	=	0.6443x	-	0.4867	
R²	=	0.89697	p=0.0145	

KEOPS1	

0	

1	

2	

3	

4	

5	

0	 1	 2	 3	 4	 5	 6	

JO
2	m

ea
su

re
d	

[m
m

ol
	m

-2
	 d

-1
]	

JO2-Ba	[mmol	m-2	d-1]	

JO2-Optode	(175-450	m)	ANTARES,	MedSea,	this	study	

JO2-DCR	(150-300	m),	KEOPS1,	Southern	Ocean,	Jacquet	et	al.,	2015	

Dehairs	equation	
y	=	17464x	+	183.79	

R²	=	0.86549	
p=0.0024	

y	=	23391x	+	247	
R²	=	0.63	
p=0.006	
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ANTX/6	-	Southern	Ocean	(Model-	Winkler,	200-400m),	Dehairs	et	al.,	1997	

GEOVIDE	-	N-Altantic	(AOU-Water	mass	age,	100-1000	m),	Lemaitre	et	al.,	2018	


